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 SECTION A 

BASIC SKILLS 

 

1. Find 2 x 5 – 10 x 4 

 

 

2. Find 5 x 5  x 5 x 5 x 5 

 

 

3. Find 12 x 1000 + 34 x 100 

 

 

4. Find -4 ( 9 – 15 ) x 2 (-3 + 8) 

 

 

5. Find -3.16 x 4.52 x 1000 

 

 

Sl.No. SECTION B 

CHAPTER BASED QUESTIONS 

Marks 

1. Simplify  (a-1 + b-1)-1  

 

1 

2. Find the value of  the expression (80 – 30) x (80 + 30) 

 

1 

3. Write in power notation : 
7

2
 x 

7

2
 x 

7

2
 

1 

4. Evaluate : 

i) {(
3

2
)3}2                                       ii) (

5

2
)3   (

5

2
)4 

2 

5. Write the following numbers in standard form. 

i)23450000000000000                    ii)0.0000766 

 

2 

6. Write the following numbers in usual form. 

i)3.56 x 10-3                                      ii)1233.56 x 108 

 

2 

7. If 62x + 1   36 = 216 , find the value of  x. 

 

3 

8. Find the value of x ,if   

i)( 
3

7
)-4  x ( 

3

7
)-5 = ( 

3

7
)3x 

 

3 
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9. Simplify 

 

(a)   (-2)3× 53× (-3)4 

            125 × 34 

 

(b) (56× p7) ÷ (25 × p3) 

 

(c) [(33)2× 34] ÷ 38 

 

(d)        40 

         50× 60 

 

(e) (
−1

3
 )2× (

3

−2
)3× (

2

5
)3 

 

 

2 

 

2 

 

1 

 

1 

 

2 

10. Find the product of 5 and the reciprocal of [ 
2

5
]-1 2 

 SECTION C 

HOT QUESTIONS 
 

 

1. Find the value of (7-1 – 8-1)-1 – (3-1 – 4-1)-1 

 

3 

2. Find the multiplicative inverse of 7-1 ÷ 90-1 

 

2 

3. Simplify: (5/8)-7 × (8/5)-5. 

 

2 

4. Express 4-3 as a power with base 2. 2 

 

5. There are two numbers such that sum of the numbers is 35 and their difference is 

7. Find the sum of their cubes. 

 

3 

 


